

$D_f = [-\infty, -\Delta] \cup [\Delta, \infty]$
 با توجه به شکل دامنه از $[-\Delta, \Delta]$ است!

$D_f = [-\Delta, \Delta]$

$f(x) \neq 0$
 $\frac{-x}{f(x)} \geq 0$

 $\leftarrow$ ممنوع من x ، اصفرونه
0, 1, 2, 3, 4
دستور

$$x=y \rightarrow f(y) - y \cdot f(y) = 5 - y + y$$

$$-f(y) = y$$

$$\rightarrow f(y) = -y$$

$$x: -1 \rightarrow f(-1) + 1 = 1 + 1 = 2$$

$$f(\underbrace{f(a)}) + f(f(1)) =$$

$$\begin{aligned}
 x=1 &\rightarrow f(0) - f(1) = 4 \\
 f(1) &= a - b + 1 \\
 \Rightarrow \underbrace{f(0)}_{0-0+1=1} - a + b &= 10 \rightarrow b - a = 9 \\
 &-(b - a) = -9 \\
 -b + a &= -9
 \end{aligned}$$

$$f(x) = \frac{(x^2 + x + 2) + 1}{(x^2 + x + 2) + 3} = \frac{(x+2)^2 + 1}{(x+2)^2 + 3}$$

$$f(\sqrt{3}-2) = \frac{(\sqrt{3}-2+2)^2 + 1}{(\sqrt{3}-2+2)^2 + 3} = \frac{3+1}{3+3} = \frac{4}{6} = \frac{2}{3}$$

2
6

$$(x - \frac{1}{x})^2 = x^2 + \frac{1}{x^2} - 2 \quad (x - \frac{1}{x})^2 = x^2 + \frac{1}{x^2} - 2$$

$$\frac{x^2 + 1}{x^2} = x^2 + \frac{1}{x^2}$$

$$f(-3) = -1$$

NA

$$(x - \frac{1}{x})^2 + 2 \leftarrow x^2 + \frac{1}{x^2} - 2 + 2 = -3 \quad f(x - \frac{1}{x}) = x^2 + \frac{1}{x^2} \rightarrow f(x) = x^2 + \frac{1}{x^2}$$

$$f(-3) = (-3)^2 + 2 = 11$$

$$f(x) = \{(2, 0), (1, -2), (0, 2), (2, 1)\}$$

$$g(x) = \{(2, \sqrt{2}), (1, \sqrt{2}), (0, 3), (2, \sqrt{2})\} \quad D_y = [-2, 2]$$

1, 2

$$الف) \frac{f}{g} = \{(2, 0), (1, -\sqrt{2}), (0, \frac{2}{3}), (2, \frac{\sqrt{2}}{2})\}$$

$$ب) \frac{g}{f} = \{(2, \frac{\sqrt{2}}{0}), (1, \frac{\sqrt{2}}{-2}), (0, \frac{3}{2}), (2, \frac{\sqrt{2}}{1})\}$$

$$f(x) = \{(2, 1), (3, 4), (-5, 2), (1, -2)\}$$

$$الف) 2f(x) = \{(2, 2), (3, 8), (-5, 4), (1, -4)\}$$

$$ب) f(x) + 1 = \{(2, 2), (3, 5), (-5, 3), (1, -1)\}$$

$$ج) 3f'(x) + 1 = \{(2, 7), (3, 13), (-5, 7), (1, 3)\}$$

$$د) f(2x) = \{(1, 1), (\frac{3}{2}, 4), (\frac{-5}{2}, 2), (\frac{1}{2}, -2)\}$$

2
9

$$الف) f-g = \{(2, 2), (1, -4), (3, 2)\}$$

$$ب) \frac{2f}{g} = \{(2, 4), (1, -4), (3, -2)\}$$

$$= \{(2, 4), (3, -2)\}$$

2
10